@ Requisitos de seguranga e regras
de conservacao e utilizacao

1. Familiarize-se com as especificacoes deste
manual de instrugoes.

2. Proteja o produto de impactos e danos
mecanicos.

3.Para a evitar lesoes, antes de utilizar o produto,
verifique a respectiva exactidao e fiabilidade de
acordo com os requisitos deste manual.

4.0 produto deve ser armazenado em local
fechado a uma temperatura abaixo de +2°C e nao
acima de +40°C e humidade relativa do ar de 45
a70%.

5.Recomenda-se a limpeza do produto com um
pano humido e, de seguida, com um pano macio
e limpo.

Garantia do fabricante

1.A empresa/fabricante garante que o produto se
encontra em conformidade com os requistos dos
documentos normativos sobre a condigao de que o
consumidor respeita as regras de armazenamento,
transporte, utilizacao e montagem.

2.Avida util do produto é de 2 anos.
3.0 periodo de garantia do produto é de 24 meses.

4. Durante o periodo de garantia, os defeitos sao
solucionados gratuitamente. Assim que o defeito for
detectado, o consumidor deve informar imediatamente
o fabricante. A decisao sobre a reparagao do produto ou
fornecimento de pegas sobressalentes fica a critério do
fabricante.

5.Este produto ndo é indicado para uso comercial ou
industrial. A violacdo desta regra conduz a um corte no
periodo de garantia.

6.A garantia cobre apenas o material ou os defeitos de
fabrico. Nao estdo cobertas pela garantia as pecas com
sinais de desgate ou danificacao causados pelo uso
incorrecto, uso de forga ou outras intervengdes ocorridas
sem consulta prévia do nosso servico de assisténcia.
7.Conserve a embalagem original durante o periodo de
garantia para que, em caso de devolugao, tenha a
possibilidade de usufruir do transporte seguro de
mercadorias. Nao envie o produto para o servi¢o pos-
venda sem a embalagem!

Certificado de aceitacao

Produto # fabricado e promulgado de
acordo com os requisitos padrao obrigatdrios em
vigor e esta em conformidade com a documentagao
de suporte e apto para ser utilizado.

O representante do departamento de controlo de
qualidade

Data de fabrico

Embalador

A reparagao, substituicao de pecas e

componentes do produto durante o periodo de
garantia é feita no seguinte endereco:

Polini GmbH

Dieselstrafie 2, 40721 Hilden, Deutschland

tel.: +49 800 7245184, e-mail: info@polinigroup.de

Data da venda

Carimbo de venda da organizagao

O fabricante reserva-se ao direito de efectuar
pequenas alteragdes técnicas ndo mencionadas
neste manual.

GI') TpeGosanus no TexHuke GesonacHocT,

npaBuna XpaHeHUa U 3KCnyaTauuu

1. BHMMaTenbHO 03HaKOMbTECh C Tpe6OBaAHUAMM
HacTosLLEero pykoBOACTBA MO 3KCIyaTaLmm.

2. O6eperaiiTe U3genue oT yaapoB U MeXaHUYECKUX
NOBPEeXAEHUN.

3. lns vcknovenHus TpaBMUPOBaHUA, nepes Havdyanom
aKkcnayataumun y6€,D,I/ITer B NPaBUIbHOCTU U
HaAEeXXHOCTH C60PKM nsnenua B COOTBETCTBMM C
TpeﬁOBaHMFIMM HacToALlero pykosoacrea.

4. Vi3nenve [OMKHO XPaHUTLCS B KPbITbIX
NnoMeLLeHMAX Npu Temnepatype He Huxe +2°C u He
Bbilwe +40°C M OTHOCUTENbHOM BNAXXHOCTU BO3A4yXa
oT 45 no 70%.

5. M3penne pekoMeHayeTCs NpOTUPaTh BAAXHOM
TKaHbIO U 3aTeM HaCyX0 MSrKOW YUCTOM TKaHbIO.

[apaHTus usrorosutens

1. MpennpuaTUe-u3rotoBUTENb rapaHTUpyeT
COOTBETCTBME U3AeNUs Tpe6OBAHUAM HOPMATUBHbIX
[LOKYMEHTOB NpM YCNOBUM COBNIOAEHNS
noTpebuTenem NpaBun XxpaHeHwus,
TPaHCMOPTUPOBAHWS, IKCMNyaTaLuK U CGOpPKU.

2. Cpok cnyx6bl U3nenus - 2 roga.

3. fapaHTUIHbIN CPOK 3KCNAyaTaumMm usaenus - 24
Mecsua.

4. B TeueHue rapaHTUMIHOIO Cpoka Ntobble fAedekTb
ycTpaHsiiotcst 6ecnnatHo. Mpu obHapyxxeHun fedekTta
BaM HeobxoAMMO HeMeaieHHO Co0BLLUTL 06 3TOM
npousgoauTento. PeleHre Bonpoca 0 peMoHTe
M30en1s UNK NOCTaBKM 3aMacHOM YacTh OCTaeTCs Ha
YCMOTPeHUe Npon3BoauTenNs.

5.J1aHHbIM NPOAYKT HE NOAXOAMUT ANt KOMMEPYECKOTo
WM NPOMBILLIEHHOTO UCMOMb30BaHUs. Hapylenve
NPUBOAMT K COKPALLEHUIO CPOKA FapaHTUW.
6.TapaHTWs pacnpoCTpaHsEeTCs TONLKO Ha MaTepuan
WU NPOM3BOLCTBEHHbINM Gpak. M3HOC aeTanei unm
NOBPEXAEHMS], BbI3BaHHbIE HEMPABUIbHBIM
MCMO/b30BaHWEM, IPUMEHEHWEM CUTbI MU
BMELLATENLCTBOM, KOTOPbIE UMENU MecTo 6e3
NpeLBapUTENbHON KOHCYNBTALLMM C HALIMM
CEPBUCHBIM OTLENOM, HE MOKPbIBAOTCS raPaHTUMHBIM
obcnyKMBaHMEM.

7.Toxanyicra, COXpaHUTE OPUTMHANBHYIO YNaKOBKY
Ha NPOTSYKEHUM [AEMCTBUS raPaHTUIAHOIO CPOKa, YTOGbI
B C/Ty4ae BO3BpaTa UMETb BO3MOXKHOCTb 6e30macHoi
TpaHCNopTUpOBKM ToBapa. He oTnpasnsiite ToBap B
CepBUCHbI oTaen 6e3 ynakoBku!

CBupeTenncTeo o npuemke

M3penne N2 M3rOTOBNIEHO M NPUHATO
B COOTBETCTBUM C 06513aTeNbHbIMU TPeGOBAHUAMMU
CTaHAApTOB, AEMCTBYIOLLEN TEXHUYECKOM
[LOKYMeHTaLMeN U MPU3HAHO FOAHbIM A1
3KCnnyaTaumu.

MpencraButens OTK

[ata usrotosneHus

YnakoBLMK

PeMoHT, 3aMeHa feTaneit 1 y3noB usnenus

B Nepu1oj, rapaHTMUHOIo cpoka

Npou3BOAMTCS MO aApecy:

427430, r. BoTKUHCK, yn. PeyHas 2

CNY)XKbA CEPBUCA

Ten. +7 34145 43625, e-mail: servicevpk@topol.ru

[ata nponaxu

LWtamn ToprytoLeit opraHusauum

WU3rotoBuTeNb OCTaBASAET 3a C060/ NpaBo Ha
BHECEeHUe HEe3HAUYUTENIbHbIX TEXHUYECKUX MBMGHGHME,
He OTPaXKEHHbIX B JAHHOM PYKOBOACTBE.

gl auwaipll wldhio @
plaziawVlg blaix>Vi

plazeew VIl Jds oldhie @yl 81,8 N

HhoVlg wlosall g zuiadl (sde blasdl .Y

ausol) S il &dgigey axo o ASWI sy ¥
i) oVl 8 Jl Tis elilbaie) Lis
EYRY

o> 08 Sl (58 el oy piy Ol o £
a>)> L4 oo osdel JudsC OV + o J3I 6,1,>
Ve S| 780 o Al asboylly dyaio

25 cellio Gulod sl auioll puwos auaiy .0
aocly aab @8l> Lulod aels) asuwn

Ulaal gilall

wldhio) zusedl (88lg5 ouay guiodl giuaedl )

by i) llpiad! plsdl byin duosdaicll siligll
Sl plazscwVl (Jadl daasl

Wlgiow Y o guioll 3b> .Y

Topio Y5 — zusol) Olouall 8,5 .Y

3] olouall 6,18 JWs blowo s oSl slasiwl o .5
asraoll &Syl Ll peis ol dlded (JIs wazg
\aziaoll 85l i lads Ll

o )Ll plazwM cowlio e zuell 11 .0
Oloall 8,58 Lolazl (] Sagy gVl .cscluall
Vg gaiaill JI5 of 83lal b Olouall (sl .1
Aol L0Vl of eVl <l ol Oloall dors sas
Jzadl o bl plaziwl cosdw e plazswl e
Liloas puud 8o (Guwo Holi W

c0loaall 8,16 JMs LoVl adall blasVl sy .V

Y .ace=, Jb> (59 aiol syl gaiell Jas u091)
ladall vgay acladl Jowy

Jouadl 85w
lllaio) (a8 algds asio p 23, zusoll

pig @l auaill (3Gs) L899 mlead) auol VI
Jlosiwl Trals ay iVl

6503l b Jiow

e dedl o oo

guall gu,i

JUs wlziioll GlsSeg sl3> VIl Jlagowl (@MoY Ulgic
1l 639

Polini GmbH

Dieselstrafde 2, 40721 Hilden, Deutschland
tel.: +49 800 7245184, e-mail: info@polinigroup.de

SR
ol dnloiall pis

sl Ol 21,5] dxiaod] &Syuiald
WA 13D 50 pusSei ¥ all @aailall

460

mm

Conforms to European Safety Standards NF D60-300-1, 2, 3 (2008)

ap
POLIN

0O0000600

Please read this manual carefully before using the product. Please follow all instructions in this manual.
KEEP THE MANUAL FOR FUTURE REFERENCE!

Bitte lesen Sie vor Gebrauch des Produktes die Bedienungsanleitung sorgfaltig durch.

WICHTIG FUR SPATERES NACHSCHLAGEN AUFBEWAHREN!

Lees deze handleiding voor gebruik van het product. Volg alle instructies in deze handleiding.

BEWAAR DE HANDLEIDING VOOR DE GEHELE LEVENSDUUR VAN HET PRODUCT.

S'il vous plait lire ce manuel avant L'utilisation du produit. S'il vous plait suivre toutes les instructions de ce manuel.
GARDEZ LES INSTRUCTIONS POUR L'UTILISATION DU PRODUIT!

Por favor, lea este manual cuidadosamente antes dela operacion del producto. Por favor, siga todas las instrucciones de este manual.
MANTENGA ESTE MANUAL DURANTE TODO EL PERIODO DE EXPLOTACION DEL PRODUCTO!
Legga attentamente questo manuale prima di usare il prodotto. Per favore, segua tutte le indicazioni del manuale.
CONSERVI IL MANUALE DURANTE TUTTO IL PERIODO DELLESPLOTAZIONE DEL PRODOTTO!
Leia atentamente este manual antes de utilizar o produto. Siga as instrugoes.
CONSERVE O MANUAL DURANTE O TEMPO DE VIDA DO PRODUTO!
BHUMaTenbHO NpouTUTE 3TO PYKOBOACTBO Nepeq 3Kcnyataumein uspenus. Moxanyiicra, cnenyiite BceM yKasaHUsIM AaHHOTO PYKOBOACTBA.
COXPAHSMTE PYKOBOACTBO B TEYEHWE BCEFO CPOKA SKCMUTYATALIUM U3LENUA!
JlablW uli aigol
lsbsix] . J VI 14D 9 Wlowdai] gao> glil (o guiod] plasuiw] Jud JJMI 14D b:19 (s>
2uiol) pSolazaw Y lpds 6 i)l JM> JJJU

000000600

ERL

[=]¥

SINCE 1941 E
polini-kids.de polini-rus.ru poliniglobal.com
m < Polini kids Simple 105 S

Children’s furniture set
Kindersitzgruppe

Kinderen meubilair

Les enfants de l'ensemble de meubles
Ninos juego de muebles

Mobili per bambini set

Conjunto de mdveis para criangas
KomnnekT petckon mebenu

acgoxo JlabVl Ui
‘.‘1105
Blcm

00000608

Produced by: VOTKINSK INDUSTRIAL COMPANY JSC

2, Rechnaya Str., Votkinsk, Russia, 427430

Hergestellt von: VOTKINSK INDUSTRIEUNTERNEHMEN AG

427430, Russland, Votkinsk, Rechnaya Strasse 2

Geproduceerd door: OAO «VOTKINSKAJA PROMYSJLENNAJA KOMPANIJA»
427430, Russische Federatie, Votkinsk, Retsjnaja straat, 2

Produit par: JSC "VOTKINSK INDUSTRIAL COMPANY"

Russie, 427430, ville de Votkinsk, Rechnaya Rue, 2

Producido por: SRL “VOTKINSKAYA PROMYSHLENNAYA COMPANIYA” Domicilio legal: SRL “VOTKINSKAYA PROMYSHLENNAYA COMPANIYA”,
Rusia, 427430, Votkinsk, calle Rechnaya, 2 Rusia, 427430, Votkinsk, calle Rechnaya, 2

Prodotto: S.p.a. del tipo aperto "VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA"  Lindirizzo giuridico: S.p.a. del tipo aperto "VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA',
Russia, 427430, citta Votkinsk, str. Rechnaya 2 Russia, 427430, citta Votkinsk, str. Rechnaya 2

Produzido por: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A. Endereco comercial: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A.,
Rua Rechnaya 2,427430 - Votkinsk, Russia Rua Rechnaya 2,427430 - Votkinsk, Russia

MpowusseneHo: OAO "BOTKUHCKAS MPOMBILWNEHHAS KOMMAHUA" lOpuanyeckuit agpec: OAO «BOTKMHCKAS MPOMBILLIEHHAS KOMMAHUS»
427430, Poccus, . BOTKMHCK, yn. PeyHas 2 427430, Poccus, . BOoTKMHCK, yn. PeyHas 2
eloYl pot Gudopnp. "ducliall cluinSigd &S )" Lo, eVl put G.3.p.0- "Gacliall launinSigd &S pi" (b, «

427430 Ll )l luiSigh aiyse 2 427430 Llizs, £,0L0 «lwinSigd @yin 2

Legal address: VOTKINSK INDUSTRIAL COMPANY JSC
2, Rechnaya Str., Votkinsk, Russia, 427430

Unternehmenssitz: VOTKINSK INDUSTRIEUNTERNEHMEN AG
427430, Russland, Votkinsk, Rechnaya Strasse 2

Wettelijk adres: OAO "VOTKINSKAJA PROMYSJLENNAJA KOMPANIJA
427430, Russische Federatie, Votkinsk, Retsjnaja straat, 2

Adresse légale: JSC "VOTKINSK INDUSTRIAL COMPANY",
Russie, 427430, ville de Votkinsk, Rechnaya Rue, 2




Polini kids Simple 105 S

Polini kids Simple 105 S

@) Les exigences de sécurité, des regles
de stockage et de fonctionnement

1. Lisez attentivement les exigences de ce
manuel.

2. Gardez le produit contre les chocs et les
dommages mécaniques.

3. Pour éliminer la blessure, avant d'utiliser
assurer Llexactitude et la fiabilité de l'ensemble du
produit en conformité avec les exigences de ce
manuel.

4. Le produit doit étre conservé dans un espace
fermé a la température pas inférieure a +2°C et
pas plus de +40°C et une humidité relative de 45
a70%.

5.Le produit est recommandé d'essuyer avec un
chiffon humide, puis séchez avec un chiffon doux
et propre.

La garantie du fabricant

1.Le fabricant garantit que le produit est conforme aux
exigences des documents normatifs, sous réserve des
régles de lentreposage, le transport, lentretien et
lassemblage par le consommateur.

2.La durée de vie du produit est de 2 Ans.
3.La période de garantie du produit est 24 mois.

4.Au cours de la période de garantie, les défauts sont
éliminés gratuitement. Si elle est défectueuse, vous
devezimmeédiatement aviser le fabricant. La question
de la réparation du produit ou la fourniture de pieces
de rechange reste a la discrétion du fabricant. Si vous
découvrez un défaut, vous devez immédiatement aviser
le fabricant. La question de la réparation du produit ou
la livraison une piéce de rechange a la discrétion du
fabricant.

5.Ce produit ne convient pas pour un usage
commercial ou industriel. Violation conduit a une
réduction de la période de garantie.

6.La garantie couvre uniquement le matériel ou les
défauts de fabrication. Les pieces d'usure ou les
dommages causés par une mauvaise utilisation,
Lutilisation de la force ou de l'intervention sans
consultation préalable avec notre département de
service ne sont pas couverts par la garantie.

7.S'ilvous plait gardez lemballage dorigine pendant la
période de garantie,en cas de retour détre capable de
transporté des marchandises en toute sécurité.Ne pas
envoyez des marchandises au service sans emballage!

Certificat d'acceptation
Le produit # est fabriqué et accepté
en conformité avec les exigences obligatoires des

normes, la documentation technique actuelle et
jugé apte pour le service.

Représentant du Contrdle qualité

Date de fabrication

Emballeur

Réparation, le remplacement des piéces et
composants du produit au cours de la période

de garantie a l'adresse:

Polini GmbH

Dieselstraie 2,40721 Hilden, Deutschland

tel.: +49 800 7245184, e-mail: info@polinigroup.de

Date de vente

L'étampe de lorganisation commerciale

Le fabricant réserve le droit d'apporter des
modifications techniques mineures qui ne

sont pas reflétés dans ce manuel.

@& Requerimientos de seguridad, reglas
de almacenamiento y operacion

1. Por favor, lea cuidadosamente los
requerimientos de este manual.

2. Proteja el producto de golpes y danos
mecanicos.

3. Para evitar lesiones, antes del uso, se asegura
en la correccion y la fiabilidad del conjunto del
producto segun los requerimientos de este
manual.

4. El producto debe almacenarse en espacios
cerrados a una temperatura no menos de +2°Cy
no por encima de +40°C y una humedad relativa
de 45 a 70%.

5. Se recomienda limpiar el producto con un pano
humedo y luego secarlo con un pano suave y
limpio.

La garantia del fabricante

1. El fabricante garantiza que el producto cumple
con los requerimientos de los documentos
normativos con sujecién a las reglas del
almacenamiento, transporte, operacién y montaje.

2.La vida de servicio del producto es de 2 Afios.
3.El periodo de garantia del producto - 24 meses.

4. Durante el periodo de garantia, cualquier defecto
se elimina de forma gratuita. Si Usted descubre un
defecto, por favor, notifica al fabricante
inmediatamente. El fabricante debe decidir por si
mismo, si es necesario a reparar el producto o
suministrar las piezas de recambio.

5.Uso comercial o industrial de este producto es
prohibido. Violacion de la regla conduce a una
reduccién en el periodo de garantia.

6. La garantia cubre solo los materiales o defecto
de fabricacion. Las piezas desgastadas o dafadas
por el uso incorrecto, el uso de la fuerza o
intervencion que se llevd a cabo sin consulta
previa con nuestro departamento de servicio no
esta cubierto por la garantia.

7. Por favor, mantenga el embalaje original durante
el periodo de la garantia, para que en caso de
devolucion sea posible asegurar el transporte del
producto. jNo envie el producto al departamento
de servicio sin embalaje!

Certificado de recepcion

El producto # es fabricado y recibido
segun los requerimientos obligatorios de las
normas, la documentacion técnica actual y es
declarado apto para la explotacion.

El representante de DCT

Fecha de fabricacion

Empacador

La reparacion, el reemplazo de piezas y
componentes del producto, durante el periodo

de garantia, se realiza en la direccién:

Polini GmbH

Dieselstrae 2,40721 Hilden, Deutschland

tel.: +49 800 7245184, e-mail: info@polinigroup.de

Fecha de venta

El estampo de la organizacion de comercio

El fabricante reserva el derecho de realizar
cambios técnicos menores que no estan
reflejados en este manual.

‘D Le richieste della sicurezza, le regole
della conservazione e lesplotazione

1. Legga attentamente le indicazione del
manuale presente.

2. Premunisca il prodotto dai colpi e le rotture
meccaniche.

3. Per escludere i trauma prima di cominciare ad
usare il prodotto guardi se il prodotto sia messo
ed installato correttamente e sicuramente
secondo le esigenze del manuale presente.

4.l prodotto deve essere conservato negli spazi
chiusi alla tempreatura non meno di +2°C e non
superiore a +40°C e lumidita relative dell’aria
da 45 a 70%.

5. Si raccomanda di pulire il prodotto con la
stoffa umida e poi con la stoffa secca e pulita.

La garanzia del produttore

1. La fabbrica produttore garantisce la conformita del
prodotto alle esigenze dei documenti normativi a
condizioni che il consumatore segua le regole della
conservazione, la trasportazione, lesplotazione e
linstallazione.

2.La durata del prodotto e di 2 Anni.

3.1l periodo della garanzia dellesplotazione del
prodotto & 24 mesi.

4. Durante il period della garanzia tutti i difetti vengono
eliminate gratis. Nel caso se abbia trovato un difetto
bisogna comunicarne subito al produttore. La decisione
della questione della riparazione o del consegno del
pezzo di ricambio é alla responsabilita del produttore.

5.1l prodotto non conviene per lusanza commerciale o
industriale. La trasgressione provoca la riduzione del
periodo della garanzia.

6.La garanzia tocca soltanto il materiale o il difetto
della produzione. Lamortizzazione dei dettagli oppure
le rotture causate dellusanza incorretta, lusare di
troppa forza o lesplotazione incorretta senza la
consulenza porimaria con il nostro dipartimento di
servizio, non vengono coperte dal servizio della
garanzia.

7.Per favore, conserva l'imballaggio originale durante
tutto il periodo della garanzia per avere la possibilita di
trasposrtare il prodotto al modo sicuro nel caso del
rimborso. Non mandi il prodotto al dipartimento di
servizio senza l'imballaggio!

Il certificato dell'accettazione

Il prodotto # e prodotto ed
accettato secondo le esigenze degli standard in
vigore, la documentazione tecnica valida ed e
nominato buono per lesplotazione.

IL rappresentante dell'OTK (il comitato del controllo)

La data della produzione

Limbalattore

La riparazione, il ricambio dei pezzi e

dettagli del prodotto durante il periodo

della garanzia si fa all’indirizzo:

Polini GmbH

Dieselstrae 2,40721 Hilden, Deutschland

tel.: +49 800 7245184, e-mail: info@polinigroup.de

La data della vendita

La stampa dellorganizzazione venditore

IL produttore ha il diritto di fare i piccoli
cambi tecnici non descritti nel manuale
presente.




@ Requirements for security,
storage, and use

1. Please read carefully the requirements of this
manual.

2. Protect the item from shocks and mechanical
damage.

3.To avoid injury, ensure the correct and secure
assembly in accordance with the requirements of
this manual before the first use of the product.
4. The product should be stored indoors at a
temperature not less than +2°C and not above
+40°C and relative humidity of 45% to 70%.
5.The product is recommended to be cleaned
with a damp cloth and then dried with a soft
clean cloth.

Warranty from the manufacturer

1. The manufacturer guarantees the conformity of
product to the requirements of normative documents
under condition of the observance of rules of
storage, transportation, operation and assembly.

2.The lifetime is 2 years.
3.The warranty period is 24 months.

4. During the warranty period any defects are
eliminated free of charge. If a defect is found, you
should immediately inform the manufacturer. The
decision to repair or supply a spare part is at the
discretion of the manufacturer.

5.This product is not suitable for commercial or
industrial use. Violation of terms of use results in the
reduction of the warranty period.

6. The warranty covers only materials or
manufacturing defects. Spare parts’ deterioration or
damage which may occur as a result of incorrect
exploitation, use of force or intervention which took
place without prior consultation with our service
Department, are not covered by warranty.

7.Please keep the original packaging during the
warranty period to ensure safe transportation of the
product in case of return. Do not send the item to
our service department without packaging!

Acceptance certificate

The product # is made and accepted
in accordance with obligatory requirements of
standards, current technical documentation and is
acknowledged to fit for service.

The technical control representative

Manufacture date

Packer

Repair, replacement of parts and components
of the goods during the warranty period are
made at the following address:

Polini GmbH: Dieselstraf3e 2,40721 Hilden, Germany,
tel.: +49 800 7245184,

e-mail: info@polinigroup.de (EU)

Polini New Zealand: 100 Banks Street, Thames, New
Zealand, 3500, tel.: +64275296717, e-mail:
nz@poliniglobal.com

Polini Australia: 3/3 Isabel Avenue, Vaucluse, NSW,
2030, Australia, tel.: +61404557945,

e-mail: sales@dalextrading.com

Sale date

Stamp of the selling company

The manufacturer reserves the right to
make minor technical changes not

reflected in this guide.

@ Anforderungen an die Sicherheit,
Lagerung und Verwendung

1. Lesen Sie bitte die Anforderungen dieser
Anleitung sorgfaltig durch.

2. Schitzen Sie den Artikel vor Schldagen und
mechanischer Beschadigung.

3.Zur Vermeidung von Verletzungen stellen Sie vor
dem ersten Gebrauch sicher, dass das Bett gemaf
den Montageanweisungen richtig und sicher
zusammengebaut wurde.

4. Das Produkt sollte im Innenbereich bei einer
Temperatur von nicht weniger als +2°C und nicht
Uiber +40°C und relativen Luftfeuchtigkeit von 45
bis 70% gelagert werden.

5.Zur Reinigung wird empfohlen, das Produkt mit
einem feuchten Tuch abzuwischen und dann mit
einem weichen Tuch nachzutrocknen.

Garantie des Herstellers

1. Der Hersteller garantiert die Konformitat des
Produkts mit den Anforderungen der normativen
Dokumente unter Einhaltung der Regeln fiir
Lagerung, Transport, Betrieb und Montage.

2.Die Lebensdauer des Produkts betrdgt 2 Jahre.
3.Die Garantiezeit betragt 24 Monate.

4.Wahrend der Garantiezeit werden eventuelle
Maéngel kostenlos beseitigt. Der Hersteller wird die
Garantie durch Ersatzteilversand oder Reparatur
erfillen.

5. Dieses Gerat ist nicht flir eine kommerzielle oder
gewerbliche Nutzung geeignet. Eine
Zuwiderhandlung hat eine Garantieverkiirzung zur
Folge.

6. Bei Verschleifdteilen oder Beschddigungen, die
durch unsachgemafen Gebrauch, Gewalt oder
technische Veranderungen entstanden sind und ohne
Ricksprache mit unserer Serviceabteilung
vorgenommen wurden, erlischt der
Garantieanspruch.

7.Bitte bewahren Sie, falls méglich, die
Originalverpackung fur die Dauer der Garantiezeit
auf, um im Falle einer Retoure die Ware ausreichend
zu schiitzen und senden Sie keine Ware unfrei zur
Service Abteilung ein!

Bescheinigung iiber die Annahme

Das Produkt # wurde in
Ubereinstimmung mit obligatorischen
Anforderungen der geltender technischen
Dokumentation hergestellt und angenommen
und wurde als gebrauchstauglich erklart.

Der Vertreter der Abteilung fir technische
Kontrolle Herstellungsdatum Verpacker

Herstellungsdatum

Verpacker

Reparatur, Ersatz von Teilen und
Komponenten der Ware, wahrend der
Garantiezeit erfolgt unter der Adresse:

Polini GmbH
DieselstraRe 2,40721 Hilden, Deutschland
tel.: +49 800 7245184, e-mail: info@polinigroup.de

Verkaufsdatum

Stempel der Verkaufsorganisation

Der Hersteller behalt sich das Recht vor, geringe
technische Anderungen vorzunehmen, die in dieser
Anleitung nicht dargestellt wurden.

T \Veiligheidseisen, opslag- en
de exploitatie-regels

1. Lees aandachtig de voorschriften van deze
handleiding.

2.Houd het product tegen schokken en
mechanische schade.

3.0m de schade op te heffen, voor het gebruiken
controleer de juistheid en betrouwbaarheid van het
productassemblage in overeenstemming met deze
handleiding.

4. Het produkt moet worden opgeslagen in gesloten
ruimtes bij een temperatuur niet lager dan + 2°Cen
niet boven +40°C en een relatieve vochtigheid van
45 tot 70%.

5. Het product wordt aanbevolen te vegen met een
vochtige doek en daarna met een zachte schone
doek te drogen.

Fabrieksgarantie

1. De fabrikant garandeert dat het product aan de
eisen van de normatieve documenten voldoet,
onderworpen aan de regels van de opslag,
transportatie, onderhoud en montage.

2.De levensduur van het product is 2 jaar.

3. De garantieperiode van het product is 24
maanden.

4. Gedurende de garantieperiode worden eventuele
gebreken kosteloos genlimineerd. Als u een defect
vindt, informeer de fabricant erover onmiddellijk. De
kwestie om het product te repareren of onderdelen
te leveren is de keuze van de fabrikant.

5.Dit product is niet geschikt voor commercieel of
industrieel gebruik. Overtreding leidt tot
vermindering van de garantieperiode.

6. De garantie geldt alleen voor materiaal- of
fabricagefout. Slijtage of schade veroorzaakt door
onjuist gebruik, gebruik van geweld of de interventie
die plaatsvond zonder voorconsultatie met onze
service-afdeling zijn niet onder de garantie.

7.Bewaar de originele verpakking gedurende de
garantieperiode zodat u in geval van terugkeer de
goederen veilig vervoeren kunt. Het product zonder
verpakking moet naar de service-afdeling niet
verzonden zijn!

Certificaat van aanvaarding

Het product # is vervaardigd en
aanvaard in overeenstemming met de dwingende
eisen van de normen, de huidige technische
documentatie en voor de dienst geschikt
bevonden zijn.

De vertegenwoordiger van de dienst
van technische controle

Fabricagedatum

Verpakker

Het adres voor reparatie, vervanging van
onderdelen en componenten producten in de
periode van garantie:

Polini GmbH
DieselstraRe 2,40721 Hilden, Deutschland
tel.: +49 800 7245184, e-mail: info@polinigroup.de

Verkoopdatum

Stempel van de handelsorganisatie

Wij behouden ons het recht voor om kleine
technische wijzigingen te maken die in deze
handleiding niet kunnen gevonden zijn.

Number on the picture
Nummer in der Zeichnung
Nummer op figuur
Nombre a la figure
Numero en el dibujo
IL numero alla figura
Numero na figura
Homep Ha pucyHke

o)l e p8Jl

Number of parts in the product
Stiickzahl der Teile im Produkt
Aantal componenten in het product
Nombre des détails du produit
Cantidad de elementos del producto
La quantita dei dettagli nel prodotto
Quantidade de pegas
Konuuectso petaneii 8 uspenumn
2uaoly s3>Vl dnS

Parts description
Bezeichnung
Onderdelen namen
Names des piéces

Nombre de los elementos
La nominazione dei dettagli
Designagao das pegas
HaumeHoBanue petanein

cli= VI duos

Laying
Verpackung
Pakking
Pose

El embalaje i
Posa

Estilo

Yknagka

Box / Karton / Plaats / Placer / ol
Lugar / Il posto / Espaco / Mecto

1

Back of the chair
Riickseite der Stuhl

Respaldo de la silla
Schienale della sedia

Kit d'accessoires

KomnnekT dypHUTYpbI
da2l doy>

@ 1 Achterkant van de stoel Parte de tras da cadeira ®
Larriere de la chaise CnuHka ctyna
N e
Seat of the chair Asiento de la silla
Sitz des Stuhls Sedile della sedia
1 Zitting van de stoel Assento da cadeira (]
Siége de la chaise CupeHbe cTyna
awll a0
Front legs of the chair Patas delanteras de la silla
Vorderbeine des Stuhls Gambe anteriori della sedia
1 Voorste poten van de stoel  Pernas dianteiras da cadeira (]
Pieds avant de la chaise MepenHue HOXKM CTyna
Sl gl ol
Countertop Tapa de la mesa
Tischplatte Copertura tavolo
1 Tafel dekken Tampa de trabalho ([
Plateau de table CronewHuua
aglbll slac
Table leg Pata de la mesa
Tischbein Gamba tavolo
4 Tafel been Tabela de perna ([ J
Pied de table Hoska cTona
Bladl oozl
Set of fittings Conjunto de los accesorios
Satz Beschldage Il completo della fornitura
1 Hang-en-sluitwerk Kit de ferragens {

=

Dowel 8 x 30
Holzdlibel 8 x 30
Pluggen 8x30
Goujons 8 x 30
La clavija 8 x 30
La spina 8 x 30
Cavilha 8 x 30
LWkaHT 8 x 30

8 x30,Lwd

Screw M6x60
Gewindeschraube M6x60
Schroef M6x60

Vis M6x60

Tornillo M6x60

Vite M6x60

Parafuso M6x60

BuHT M6X60

M6x60 ,lourall

Round nut M6
Rundmutter M6

Ronde moer M6

Ecrou baril M6

La tuerca cilindrica M6
Dado barile M6

Porca de tambor M6
laiika-6o4oHok M6

M6 9=l alg>







	Страница 1
	Страница 2
	Страница 3
	Страница 4

